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Instructions :
(i) All questions are compulsory.

(i) Question No. 1 to 5 are objective type questions. Choose the correct options
06 marks, fill in the blanks 06 marks, true false 06 marks, match the column
06 marks, answer in one sentence 06 marks.

(iii) Internal option are given in question No. 6 to 23 ..

(iv) Questions No. 6 to 17 are very short answer type questions. Each question
carries 02 marks. Word limit is 30 words.

(v) Questions No. 18 to 20 are short answer type questions. Each question
carries 03 marks. Word limit is 75 words.

(vi) Questions No. 21 and 23 are long answer type questions. Question carries 04
marks. Word limit is 120 words.

(vii) Question No. 23 is questions based on the map of the India. Question
carries 04 marks.

(viii) Question No. 20 show in the India map and attach it to the answer sheet.

1 I8! fawew gao= fafae- (1x 6 =6)
(i) ferferfera & & foe werer 1 Fier | T T -
(31) g () FqTHT

() =T (T) Hal



(ii) AT q< U¥ Foord == ST7 3fc: ST TAqT ATHRAH Tg0s H7 90 &-

(=) =g () TR

GIRIELE (7) fremaTrgaw
(iii) Tarsarerrer AT9eR o Y =T e iy oft-

(a1) fa=r () THT

(/) =4I (F) AT

(iv) faha g 7 3 <o Feforfera o & & R efvart<e @ v -
(31) AT, STHHAT, ST 3T Taet (=) faem, ST, =

(F) ShIE, STHT 3T TeeAt (7) Tores, whiw, =9 i< srHfaT
(v) fove forer &=t =T faorT g-
(31) TS AT () = AT
QELEREl (F) T & FTE LN
(vi) 3THE AT &7 31T TohE ATH | ST (7T 8-
CIEIGEREEIE] () AT AT
GEIEIEER] (x) afa =af=r s

Choose the correct option and write -
(i) Which of the following crops has been called yellow gold-
(a) Wheat (b) Mustard
(c) gram (d) maize

(ii) The port situated on the eastern coast which is inland and has maximum depth decline -

(a) Chennai (b) Tuticorin

(c) Paradweep (d) Visakhapatnam
(iii) Who composed the book called Encyclopedia-

(a) Diderot (b) Necker

(c) Rousseau (d) Voltaire

(iv) Which of the following countries was considered the Axis Power during the Second World

War-
(a) Nazi, Germany, Japan and Italy (b) Britain, Germany, Russia
(c) France, Germany and Italy (d) Britain, France, Russia and America

(v) Education is the subject of which list-
(a) State list (b) Union list
(c) Concurrent list (d) None of these

(vi) By what other name is average income known-

(a) Human development (b) Marginal cost
(c) Marginal income (d) Per capita income
2. s st & gfd fifcg - (1x6=6)
(i) o FHTET ST ST TEE T AT e, THTE FgATd &
(ii) BT ARTIE & § H2T 3 FATA STASATAAT 3 T FT ISIT FA B
(iii) STTEA 3 TETAT TN FHT TINAT TETATT Foceoeeeeececeeeeeeeecee T g
(IV) TSI e HETEIT HT U Glel 91 397 5
(O BEIGE R E BRSO A A TEAT ST el Bl

(Vi) T H e & 3 TremTe Y T & T 2



Fill in the blanks —

(i) Those resources which are made of non-living things are called .................... resources.

(ii) Munda and Santhal tribes in Chhota Nagpur region worship ............................. tree.

(i) India's chemical industry ranks ...........cceeeviieiiiiiiiiiiiniiinieeeeee, in the Asian continent.

(iv) Belgium is a small country in the ...........cccccuvvviiiiiiiiiieeeieeieeeee. continent.

(V) e organization issues human development report.

(VI)ONIY v days of employment is guaranteed in MNREGA.
3. 9/ Iay e - (1x6=6)

(i) e & ST gaT JeTEe 9aT Fedrdl g

(i) 9Tea =4 F 9T FATaA T FaH 2T IATEF <97 g
(iii) 1953 ® AT TREET FT TEIAFI FH7AT 77 21T
(iv) FERTE FrgelTHed Ta9T Bl

(V) GAT TSR &1 =gd T IS ot F2d 2 |

(Vi) AL H FIHT A1 AIRATT T S AT FLAT 2 |

Write True/False -

(i) The soil formed by leaching is called laterite soil.

(ii) India is the largest producer of rice after China.

(iii) Air transport was nationalized in 1953.

(iv) Chandigarh is a union territory.

(v) Open unemployment is also called hidden unemployment.
(vi) Currency notes in India are issued by State Bank of India.

4 .95 NSt a1 - (1x6 =6)
N ‘B
() YO FT g9 TST IATEF 54 (F) et e
(i) T g A ot (&) AFRATE
(i) STAATFEATT &M (1) IR
(iv) TR FT dga &9 (¥T) AT HTAT
(V) 3T 3T ITANT F7T 3(a (T) FT
(vi) FEHTT GIT ATdaeli il gemT ®EEE
Make correct pairs -
\AI IBI
(i) Largest producer of rubber state (a) Attainment of independence
(ii) Rays of the rising sun (b) Democratic
(iii) Abanindranath Tagore (c) Liberalization
(iv) Better form of government (d) Bharat Mata
(v) Income and consumption gap (e) Kerala
(

vi) Removal of restrictions by the government (f) Savings



5. TF 91T # I fafag — (1x6=6)

(iy fegdt & forEml g ®i9- AT ST JTIT 73T o7 2
(i) BT @1 &7 [AHTOT oy 2T o7 ?

(ifi) AT T HIT-AT AC TAFLIIAER JERT hl TTLTAT 22
(iv) T AW % 99 § fRora 39T 7 47 g o ?

(v) 2 st i Fa Ay 6 T ?

(vi) TG FAEAT T T U fRerer F T FEd g ?

Write the answer in one sentence —

(i) Which movement was launched by farmers in Tehri?

(i) Who built Hauz Khas?

(iii) Which city of India is the capital of electronic industry?

(iv) What were the countries located to the east of the Mediterranean Sea called?
(v) When was the new economic policy implemented?

(vi) What is the investment made by multinational companies called?

6 TSIET 21 FT E ? 38+ qed 3297 o | 02

What is Agenda 21 ? Write its main objectives.
37741 / OR
HATEAT o AT TE & FOF g2 FIs a1 gHems fofe |

Write any two problems arising from over exploitation of resources.

7 OTReAtaE 9 e FEd 8 ? 02
What is called ecosystem ?
IJ4T /OR
T ST HLAT ATATHAH H FeheWed SAIT I T 2 Al &l HIGAT (1T |

Write any two rules to save endangered species in the Wildlife Protection Act.

8 wATUTH AT "l TSTHRT T &7 fereraar forfe | 02

Write two features of the Golden Quadrilateral Highway.
JT4T /OR
39T T TgeAT TANTET Fd 3T Fgl T FATS TS ?

When and to where was the country's first train run?

9 g | * STTT IT IR o T [ e | 02

Write the types of industries on the basis of raw materials.
JT4T /OR

AT ST foh Fgd g ?

What is information technology?

10 FFITIOT FATRIE Fd AT T4 FATIT AT ? 02

When and why was Champaran Satyagraha launched?
4T /OR

AT HIATETH T &l o ?

Who was Alluri Sitaram Raju?



11 TT H T AR F ST T2 AT FT FIT TATT T2T 2

What impact did the potato have on the lives of everyone in Europe?

4T /OR

FIT-HT TS LT T ST AT T2 307 AU g1 A 7 7 (F2va v sy oft ?

Which crop was grown in India ? And why was it exported to China by the British?

12 JAT FATE ?
What is Belm?
IFI4T /OR
G AT o g 57

What is astronomy ?

13 et 1 e e areere A A0S 2 Rl frf

Write any two features of Gutenberg's printed book Bible.
3{Ydl /OR
g ferfoaT T off ?

What were the manuscripts?

14 ATATE v T 2
What is the feminist movement?
3{Ydl /OR
HIZATSA T TSI § TTafTered & T aread g2

What is meant by representation of women in politics?

15 STATEcg! 94T F#T 8 2
What is accountable government?
3{Ydl /OR
I ALY o8 Fgd g ?

What is called a legitimate government?

16 FIST &3 % HIS & A1 ferte |

Write any two advantages of organized sector.
31YdTl /OR

FIAT o AT I AT AT T 9t & fErarfora T ST g 2

Into how many parts is the economy divided on the basis of functions?

17 T&T FT T FHATC |
Explain the meaning of currency.
31YdT /OR
Feq e g FT s 2 2

What is meant by barter?

18 FHISAT THAT AIWITE Al s A1 (FATATY, o |
Write any three features of Kandla sea port.
31Ydl /OR

02

02

02

02

02

02

02

03



TATATT 3f¥ T o AT <97 o AR e § foF Tohe agmaF 21 & ?

How do means of transport and communication help in the industrial development of the
country?

19 Tores it AigAT FEITRT 7 RATRT ST 9 gAer #4171 o6 ?
Why did British women workers attack Spinning Jenny ?
3{YdT /OR
T SRIRITRr &7 serd forfe |

Write the meaning of pre-industrialization.

20 e o e Y fFerward forfero |

Write the characteristics of federal government system.
3{Ydl /OR
gt Ao #47 § 2 g9 orfe |

What is horizontal distribution? Explain and write.

21 ATSHA FHIT T TS FAT (AT 3T 2 ATt o ot 3y =41 fFrar 2

Why was Simon Commission formed? Why did Indians oppose it?
JI4T1 /OR
AT AT SAETAT & TG FHTILO A THATET |

Explain the main causes of Civil Disobedience Movement.

22 TSI & o STHE FHTAT HT J AT |
Describe the main functions of a political party.
3{YdT /OR
TSI IA1 6 THE FAT FAA9T § ? THATT |

What are the challenges before political parties? Explain

03

03

04

04

23 AT & "= § fwferfea #r 2oz - (1x4=4)

(i) TreersT (ii) =T
(i) Frar (iv) fETarety
Show the following in the map of India -
(i) Raniganj (ii) Jharia
(iii) Korba (iv) Singaroli

7974 /OR

aTed & gt § Mo v gerizo -
(i) HVJ i O AT (ii) g BTe
(i) weTSTEE (iii)) Ta=T

Show the following in the map of India -

(i) HVJ gas pipeline (ii) Mumbai High
(iii) Malajkhand (iv) Khetadi
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AT T 9 q42-
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STEEhcT TOe 2023-24

High School Examination- 2023-24

fawr: - s
Subject :- Science
(Hindi & English Version)
Total Total Printed Time Maximum Marks
Question Pages
23 09 03:00 Hours | 75
fAger: -
(1) qT w7 A gl
(2) STgl AF9TAF T oI T ATH (v = TAT |
(3) T T o [oI0 srafed s 39 v @ dfhd gl
(4) TAF. 01 05 T aeq=8 T 2|
(5) TTF.06 T 17 TF TAF TT UL 02 37 sated gl (753 AT 30)
(6) TTF. 18 H20 T TAF TA UL 03 3T Aqafed gl (9% HHAT 75)
(7) TAF. 21 T 23 Th TAF T UL 04 3 Aqafed g1 (91s8 HHT 120)

Introductions :-
(1) A1l gquestions are compulsory.
2) Draw neat and labelled line diagram, wherever necessary.
Marks allotted to every question is indicated.
Question number 1 to 5 are objective type Question.
Question no. 06 to 17 each question carries 2 marks
(word limit 30 words)
(6) Question no. 18 to 20 each question carries 3 marks
(word limit 75 words)
(7) Question no. 21 to 23 each question carries 4 marks
(word limit 120 word

(2)
(3)
(4)
(5)

1. 95! faeedr e forfem) (1x6=6)
i. Fe,05 + 2A1 = Al,03+2Fe

ST T AT AfyTeRaT R e AT 8-

F. TS At 7.  EREenxas gt

. g sfeferar T. v statear
ii. @ ey F i w5 &t aey foq #1 9w AT g =iats

. o fy e i w2 21 . fo Y srvreat e 7 ot srferew g

¥, fea & srver R afee aftatrarsfier g . fo & st R w0 sfstramefie g
iii. 9TUEdC % @S H A FET STSAFT TS, A TAT Sl T g A< T8 Fhar

et 2~
. FHIRTEST q. HrEereiteear
. ga aa® T. FEd
iv. HiEqw 39 @&
F. G F o ¥. T EATF U
. I T 6 a4 o oI COEC L L i ol
v. O HT T g g
q.  ATE A . qUT T

q. TOATHRT <. HUST A




vi. fAwuefad § 9 #1991 m=@acs [0 Zag Fgard g 2
F. ST TS THT ATHETT & (o7 FOHT AT of ST
. FTH GHTAH g1 S I AT (Fod) TAT 99 F7 Fa= d8 F:LAT|
. WA g FEe ¥ A gied & a9 @Ened 3@ 9@ ST
T.  SULIHT THT

Choose the correct option.
i. Fe,03 + 2A1 — A:|_203 + 2Fe
The above reaction is an example of

(a) combination reaction. (b) double displacement
reaction.
(c) decomposition reaction. (d) displacement reaction
ii. Food cans are coated with tin and not with zinc because
(a) zinc is costlier than tin. (b) zinc has a higher

melting point than tin.
(c¢) zinc is more reactive than tin. (d) zinc is less
reactive than tin.

iii. The breakdown of pyruvate to give carbon dioxide, water
and energy takes place in
(a) cytoplasm. (b) mitochondria.
(c) chloroplast. (d) nucleus.
iv. The brain is responsible for
(a) thinking. (b) For understanding
(c) balancing the body. (d) all of the above.
v. The anther contains
(a) sepals. (b) pistil.
(c) pollen grains. (d) ovules.
vi. Which of the following are environment-friendly

practices?

(a) Carrying cloth-bags to put purchases in while

shopping.

(b) Switching off unnecessary lights and fans.

(c) Walking to school instead of getting your mother to
drop you on her scooter.

(d) All of the above.

2. F=wl Fmvﬁaﬁﬁﬁﬁrql (1x6=6)
i. HHH(H(?W{HHQP#hH? ................ %l
ii. %ma‘rﬁmaﬁeﬁwwﬁﬁrw ............... FgATaT gl

1ii. HIH BIEEITT v ittt et et eeeeeeannn FgdTd gl
iv. S :=TOTEr G & e arer TE..o..... FgdATd Bl

v, OFaATH L. AT o AT I (AT FLdl 81
vi. AT TG AT qhal &A1 20 HelHeT g , TR Blhe g0

Fill in the blanks
i. Formula of marble is..
ii. Homogeneous mixture of two or more metal is called

iii. Saturated hydrocarbons are called.........

iv. Chemical secreted by endocrine glands are called
Ve e s . control the size of pupil in human eye.
vi. If the radius of curvature of a spherical mirror is

20cm, then its focal length will be..... .



ii.
iii.
iv.
V.

vi.

3.y e (1x6=6)
i qaT og,  FHUT AT STUeAT Aterk Fharefier g

IR TF HA{Sd TTH{d® I9 (CNG) T T E =qedh U g

a7 T GLATATICHE SaTS A1 2l

asft sfzas frame oy Aftass § Rug dgar g EatEa grdv € 1

o e 919+ & o Areestes &1 =@ AT Sar g 1

5/ g SR 3T o7 oo aaer stferes grar @

Write true or false.

i. Zinc and lead are more reactive than copper
ii. Ethane is a main component of biogas and CNG.
iii. Functional unit of kidney is nephron.
iv. All involuntary actions are controlled by the medulla
in the hind brain.
v. Voltmeter is used to measure electric current.
vi. The violet colour is deviated the most by the prism.
4 . Fel SISt fHereg- (1x6=6)
i. THET - (a) HTEErRIEEA
ii. 9IS 1 d - (b) DNA
iii. 9T&9 AN - (c) el o o
iv. TE=@ o & 99 fT 9 - (d) 120mm/80mm
v. AqaieE gETd - (e) & HI=AH
vi. T9adad - (f) oeets
3 (g) Ui s
Match the column
i. Tomato (a) -Cytokinine
ii. Normal blood pressure (b) - DNA
iii. Plant hormone (c) - Oxalic acid
iv. Magnetic effect of electric current (d) -20mm/80mm
v. Genetic material (e) Snell’s law
vi. Refraction (f) Orested
(g) Acetic acid
5.7 9re8/ U a1 ¥ 39)T forfemg (1x6=6)
i. CaOCl, I T TATIT ATH FAT &
ii. ®f3% wresed w1 UH w forfem |
iii. ST AEAV T UF IaTgL forfe |
iv. To=a a=a & qQell & a9 & (o0 e 9T T STTRT AT ST 82
v. To=@ 9ROy § ST AT AT T F FATG & (70 Rl &1 Jh 1 TTRT 63T
STaT 82
vi. @9 T e

Write answer one word /one sentences-

i.
ii.
iii.
iv.
V.

vi.

What is the common name of the compound CaOCl,?

Write theone function of blood platelets.

Write one example of inherited traits.

Which metal is used for making bulb filaments?
Which device is used for protecting the electric
circuit from short circuiting or overloading?
Write lens formula.



10.

11.

12.

ST o |TT 3TFA sl ATHIHAT BI I I &Y 9 [t g 2 9 I 6if 3utedta v

ST 3T 68 | 2

Which gas is usually liberated when an acid reacts with

metal? How will you test for the presence of this gas?
JJAQT / OR

IR @FIT A, B, C, D&l A ATAF TAF & SITH %l STl g AT pHATT HAU:

1,11,7,9 YTH G & &I 9T foea+-

(a) TaT AT (b) W& TFAA &
(b) TIHEMEE (d) TS AL
Four solutions A B C D, when tested with wuniversal
indicator showed pH as 1,11,7,9respectively.
whichsolution is-
(a) strongly alkaline (b) strongly acidic
(c) neutral (d) weakly alkaline
IRTHIHRLOT ATHTHRAT FAT g2 I8 0T it 2
What is neutralisation reaction? Give example.
AJET / OR
FTEHRT FIET &1 T Taar TR ferfem)
Write the formula and two uses of baking soda.
TS AFA TS FIHT Yo Y HL=AT a9T150) 2
Write the structure of ethanoic acid and bromo-pentane.
AJET / OR

0, 3T CH, & Toraerd fag =T ad1= |
Draw the electron dot structure of O, and CHg.

T TS OIS | &l 3fa¥ i) 2
Write any two difference between soap and detergent.
AJ4T / OR

TS IS IR AT 2 THHT TR SATIANT forfery|

What is hydrogenation? Write its industrial application.

3T IT&T gTHIA & 918 UF &g o) 2
Write the name and function of two plant hormones.

AT / OR
HEHZ 6 TRIT I SHICTT o So[FeTd &l JelTg FA1 &I STl 82
Why are some patients of diabetes treated by giving
injections of insulin?

AEed, ag@sd | e T {3 &2 2

How does binary fission differ from multiple fission?
AT / OR

T T FAT g2 THeh &l a19 forfem)

What is vegetative propagation? write its two advantage.

fAf=iarst & Scarere g & et =T offsr 1 srfeaeet fohr JhTe sestTar g

2
How does the creation of variations in a species promote
survival?

AIET / OR



UF FLFOTT § TAT FAdT g Toh goshe W T ATl ATl I o S (Arar-foar) &t
Ate ot gerO T T It 81 THH ST T FAT gH Fig T 8 Toh ATl o goshl T &l
T TATAT g FTAT ATATAT 2 3T I T SATEATH HlToTT|

A Study found that children with light-coloured eyes are
likely to have parents with light-coloured eyes. On this
basis, can we say anything about whether the 1light eye
colour trait is dominant or recessive? Why or why not?

13. AT | THA FHLAT T 30T Tk 0T STl § Tl Saer el g FaT Tahter foheor
ST AT AT AT STAAT ATHAT | T ATl TATST 12 2
A ray of light travelling in air enters obliquely into
water. Does the light ray bend towards the normal or away
from the normal? Why?

AT / OR
S FT ATAAATH 2. 42 8 TH HIF ° FT ATHAT 82

The refractive index of diamond is 2.42. What is the
meaning of this?

14. T =T w1 wiare B et a7 AT T 82 2

On what factors does the resistance of a conductor
depend?
AYET / OR

o afvay s § 9T 89 a1l A1 (adai & AT fof@d? I a1
Write name and symbol of four component of electric

circuit.
15. WATHT T 978 g 9w ot 2
Write Fleming’s left hand rule.
FJAT / OR
TS T Hish 0l o 9 orEul

Write Maxwell’s corkscrew rule.

16. el U 0 &= § S[aehi g & U @/ ¢ 2 (etad w2 & fore sreg git=m)

2
The magnetic field in a given region is uniform. Draw a
diagram to represent it.
HIAT / OR
TR = a0 & AR A a0l &7 L@ru Q=0
Draw magnetic field lines around a bar magnet.
17. HIEdE F97 §2UF AT G FT IaTL0T &ITord 9T THH IrHT #q< o)
2

What are trophic levels? Give an example of a food chain
and state the different trophic levels in it.

FYGT / OR
St e qerd FT € 2 Sareew ot |

What is biodegradable substances? Give example.



18. SATHHT AFATES FAT g2 &0 STTLHT ATFHTSES F IaTg 0T (e | 3
What are amphoteric oxides? Write the example of two
amphoteric oxides.

AI4T / OR
g FT g2 FE &1 T & 919 UF g9ed oy |
What are alloys? Write the name and composition of any
two alloy.

19. gIeST § HFad &l €0g Hifor| 3

Explain budding in hydra.
AIAT / OR
ToT T e Fe H AR = T
Draw a labelled diagram of the longitudinal section of a
flower.

20. HTHE 73 T ATHI T = a1

Draw a labelled diagram of human eye 3

AIAT / OR

I F AT feAfenTa § 2
Why do stars twinkle?
21. g afabrars & oo aqfoa TamaEs aeEmoriem) 4
1) EIESINH + FANRNT e TSSO FAGLSE
2) GIRTT + AT ey HISAH ZITSIHATEEE +ETSS IO
3) FiCUTH AFATOTT+ T ey LT ETSS T TS HEHT
4)

hfeoras Fraide TR H{eorTH AFATIEE+ HEASTg AFTHES
Write the balanced chemical equation for the following
reactions-

1) Hyd;ogen + Chlorine > Hydrggen chloride

2) Sodium + Water ey Sodium Hydroxide + Hydrogen

3) Calcium Oxide + Water Calcium Hydroxide +
Heat

feat Calcium Oxide+ Carbon dioxide

AY4T / OR
FEATNE T UF SEATISTTS STTATRAT T 28 Teisheh T IITEL0 oy

What is exothermic and endothermic reaction? Give example
of each.
22. 9T UF fORT & FE A Fa¥ e 4

Write any four differences between artery and veins.
AYET / OR
T TS AT TbTT T s AT¢ 3ia¥ forfam)

Write any four differences between aerobic and anaerobic
respiration.

23. AIATHIT FHiF & e F TqTqT T @ Giaa srqaad « a9 4frfam) 4
Draw the diagram of refraction from rectangular glass
slab and write the laws of refraction.

4) Calcium Carbonate

AIqT/ OR
. S T WA F7a § THHT qHE (@)
. AT T F &7 ITANT forfem)

. Whatis Power of lens? Write its unit.
. Write two uses of concave mirror.

o O W



Fa&r-10dY 2023-24

Fi?-?g_cr{ Set-A }
(T 9=l hr HEAT 23) quTte:-75
(FHT : 03 g0¢)
fgam-
1. @ gear: et afed |
2. IRATAT FEAW 37hT: e |
3. GAYT YRATAH TRIOT FEpcleld AGeArel |
9.1. 3T faeed Ricar forga— (1x6=6)
(i) sEnforRaay vSI fawaear wum &1l |
(s) T @) T (®) areawTa (<) werf
(i) I ST UQ P oo *1Ra |
(s1) =g (@) oot (@) T () we
(iii) 7T SR US & g9 IR |
(31) e (@) fga== (4) sgaa- (]) 39 T
(iv) “TIH" T’ HURT ol oTeq: R |
(1) Io1g (@) srere (%) vag (%) 9%
(V) "SR U9 URAERM:" IIRAH aTR 31y 3R |
(87) weTE (@) Ta (&) o= () e
(vi) SrEfeIRady sred IR |
(87) e (@) wd= (@) @ () a8
¥.2. Issehld, Hedl Redeur=ia quad— (1x6=6)
(i) TIRT SRARAT U o g+ IR | (Thaas / fgaae)
(i) U1 91 JSAPRT YIH O THAAT B oo IR | (arafet / 99
(iii) 3RET TARAT IS THT-.oonoen IR | (FoH JH: / AH JH)
(iv) "FRTIH SARAT UQ ST AR | (g /%)
(v) 7y ST SQIERT . IR | (FrersT: / i)
(Vi) e SARTT T GT: TR oo | (@<t /9q)
9.3, Y dTFATHAT FHATH 'ITH IRy 1A=l FHsd o1 3fd formd- (1x6=6)
(i) “Be: RiE a1 gy’ JRET IR faemer g5 Rig &Ra |
(i) "Fed gy ARAT IR AT ug FHue: ARG |
(iii) PTAOR: SR AT U IrdeR: R |
(iv) ¥~ g famdard® ug fau=is wafd |
(v) BT "so=r v ug o 31f &Rk |
(vi) IR 3T U |FEERI urad: 1Y iR |
7.4, 30 AR Fod — (1x6=6)

(p—avs:) (T—avs:)
(i) Taferat (®) TRl TT=T:



(i) g (@) PHIRY

(iii)TROT U= (1) fasY

(iv) FHIRer: (&) AT+
(v) SHen () faret <ifdy
(vi) arfrer: (@) SHHI:

9.5. Tohucel 3aiA fordd —

(i) € HH Siad HHd?
(ii) T f5 ARa?
(iii) ®: foorRa: e
(iv) “3rmera” IRFT U & T 3R |
(v) I SARFT U & T IR |
(Vi) 3ST+CTT U&I: &: UE Hafd |
U.6. Uaal: ¥eq: Radeigfd fmd—(@ifsy TR
(ﬁaT 341?&% faaem:, gergweH, uresafe=r, aucan)

() JER i e
9.7. IenferRaar= arnfe & wF ufd FHerafa |(@1fSa g1)

(i) SIFTIE I ATHegH |
(i) o€ aRIon: fh W& 9 S |
(iii) 7 T J R SR
U.8. areg URdd+ Hed—(BIT 8Y)
(i) 38 T U (@Hare)
(ii) UAT IEIRT: 3fef: YA  (FHaiar)
(iii) 918" U8 ysfa  (Wraar=y)
7.9, Y@Ifhd UeTafiGe e A and— (@i g)
(i) ST AT JR: 3MRA |
(i) =marefrer: dfdhAa: A |
(iii) 3R IR 77 3reTf= |
7.10. FAREdy o€ aTRY YiEH HHa— (@113 gl)
(i) = T&: 7
(i) A9 gEH e
(iii)) JfrP: e gafy

U.11. DY RGBS o S |
aferar
T FRTEeR | e feaad?

U.12. S e 9 IfRen fhd Saaar |
Jrerar
e TS ARG A 9afd agT gl & faetad?

(1x6=6)

Yox4=2



U.13. Gig: I & 98 9afd ? 2
aferar
HRAAGAT: IIRT Bl B:?
U.14. Al Hedl WA &b JAd ? 2
aferar
3D qTeRl fha—fhH gfvd iR ?
U.15. AT &1 g9 et Afdaey: ? 2
aferar
Hh: fbd PRI ?
U.16. YeI—U3 FANTA YAl (981 W@UIed il Uhd guriaq fored ? 2

U.17. Ueiard: HAIGAIAR fored — Yoxd=2
1. QIR Q= g I e |
2. F: T TSl TgATIG: &3 T a7 |
3. ¥q Uad gt A |
4. 3T HAT T4 gie W= Jdredfd |
.18, AR Tenel ufdcar YA SeaRIforT Hehd wurdl forgd — 3
TR — 378 Udf: WS |6 o= 2 99 94 v | 31| |91 99 aeqd Az fJed
IAT FHYH F A beled AHIY AT AT Y UG MAferdr g diewd Siad 9 AHY
LA | AT —
ISl g GRd ]I gor 9 B 2 |
1 o f2d <ren: yoi g O R 1|
gE—
1. 4d9T ST BT
2.4 1 O
378l g HRE

arerar

faferar Saerfe: ar #a A BTEd 9R: [ERIRR Ufdse: | 9 Miedme Ao Ser
TATRIT: | DREG UTG e~ UgGISafd: =R ST Ta-aerdd Fevred WY fafemeaed | @R
T oo BIRTGARI IR ARISTH S |
geT—

1. fafmn &

2. dR#A ‘1% P gfae:

3. TR B IMER YT
U.19. AefeIRad uermel ufdcr UM ST Apd JIvRN forad —

el qolleldcell waar fdidr

IR 7 o= Ffaar

1 o8 a8 IR R

BT Dbl AAANRT HATTDTR:
gEer—

1. IF {IAT BT Yo

2. @ Ffaar

3. PR HAUGR: AN

UEI



YIS A IR AR d8- @R

G-
1. fafRm @g 9ar & Tika
2. 9Ed & 4R
3. TR g IR
¥.20. 3ENforRad ATl yfdear UM IR0 H¥pd Ayl forad — 3

U: srerd—arem aifd f[Adpe=! & IeRd e g e $9r & 4 Us
BHIHAT gHT FH UK BT Bidh: [P U |
1. ®Id: DI AR
2. U@ dIger Rk
3. Pal Hid: Dih: U U
arerar
IHI— T SURHT IS @RI |
RM:— HYIY A TG GRRNT qefg wadl Ta=dl oid M0 gRon gdfifeR
RIS Jeraadion a_gHd |
BT = TATT IR e ad
gAY SIAR AT = AIsd TR |
1. SURIRIGH: HI RN |
2. HaIf AT Ta fae |
3. I <Y T |
g.21. 3EiforRad srafdd Termel ufdw@r Jear SR W& hd Wl fokad— 4
SR S G@H 98I | G@H ° °99 U9 9IS I ST RIS JATaedhd]
afar TG UTed g+ 9afa | god A4 i gey fEftr oft @it | @it e =
gq fIqmere] 9afa | Y dHon muRer gRsMu g Ui O] Walfd J vd g@ U |
YARAINST AT alcl | & G AT P | I HAI: TA4d 9K G |
1. 3RY fJedead wgfId e foraa
2. ®F S GEH TSI
3. I I G@ add
4. AR &b G wdfa
¥.22. QYA &l faaTeneA UrefHr uH forad | 4
arerar
RIBT USRI abTers Ui S¥dra Wl U U5 folkad |

¥.23. AJIfIRady Ush favd Widhed |epd AR e foraa —
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AT 77 9 2023-24
Practice Question Paper 2023-24
e - A/SET-A
o — o
SUBJECT - MATHEMATICS

FeT— 10 A

CLASS -10
qhT ;3 e quTta: 75
TIME : 3 Hrs MM:75
IREC
1. a9 T A FAT AAATA | |
2. i % forg strafeq s S9e avqa sifra § |
3.TIF 1ATIAF. 5 TF qeqAS IA G |
4. T . 6 T 23 TF T4 TF § AaF fawes Rarmar g |

Instructions:

1. All the questions are compulsory.

2. Marks allotted for the questions are mentioned against them.

3. Questions from 1 to 5 are objective type questions.

4. Internal choices have been provided for the questions from 6 to 23.

1. gt fAwer AT : 1X6=6
(i). EEATS 5 T 10 F7 Hgaq gHTIaq® (HCF) R :
(@) 0 (b) 1 (c)5 (d) 10
(ii). =fe et Bma ague ax® +bx+c & AT o 30T S 21, A o+ B FT AT T :
@ < O (© - @ -2
(iii). ¥® g T ax+by+c, =0 T a,x+b,y+c, =0 F F2 A Tol g Al
ad B

(@)

% (b) —=—=#—

2

—

(c) = o (d) =TH & T L |

(iv). AP.: 1, -3,-5 HAME-FATE:
(a)-2 (b) 2 (c) O (d) 4
(v). Tz TRt Bregst 1 U T & qTeaT v &1 Jeret & - e et ) afiees
FIA 6 ToIT U @ "=l S, 7T 7 & o0 U gl Tq9Td | [Eaariord gt sraf gl

TH FAF T AT 717§ A7 7T 8

(a) SATETTHT AT ARAT THT (b) TTEATTRE THI

b, a b c

- DR 8=

b
b _a
1




(c) RHS w#= (d) =8 T FTE TLT
(vi). fgait A(1, —2)sf B(=3, 4)F1 faerm arer vares F geg-fag Ao gi:
() (-1, 1) (b) (-2, 2) () (1, -1) (d (2,-2)

Choose the correct option :
(i). The HCF of the numbers 5 and 10 is :
(@o (b) 1 (c)5 (d) 10
(ii). If aand g are the zeros of the quadratic polynomial ax” +bx + ¢ then the value
of o + £ will be:
& b b
(8) = (b) = (c) —= (d) -=
a C a C
(iii). The condition that the pair of linear equations a,x+b,y+c, =0 and
a,x+b,y+c, =0 has no solution is :

b

4, 1 a bl ¢

(@) —#— (b) L =-"1x-1L
a, b, a, b, ¢,
al bl Cl

() —=—=— (d) none of these
a2 b2 c2

(iv). Common difference inthe A.P.: 1,-1,-3,- 5 is:
(a)-2 (b) 2 (c) O (d) 4

(v). If aline is drawn parallel to one side of a triangle to intersect the other two sides
at different points, then these other two sides are divided in the same ratio.
This statement is known as:
(a) Basic proportionality theorem (b) Pythagoras theorem

(c) RHS theorem (d) None of these
(vi).Coordinates of the mid point of the line segment joining the points A(l , —2)and
B(-3, 4)are:

(@ (-1, 1) (b) (-2, 2) (© (1, -1) (d) (2,-2)
= v wiRw: 1X6=6
(i). 332 Th.......... HEAT & | (s [ ahE )
(ii). 7 P(x) U Boma ague &, a7 P(x) =0 Fleeveeann. HHTFHL Fd 2l
(iii). ToRET T3 SEeheoT & 9o T(S ATeaiaeh ST T & af (Sahe & 719 .......... T |
(iv). FETAC 990 a , a+d ,a+2d,a+3d , .......... F 10T TG ... T |

(v). o Fsft srRfaat S T |J9T9 i § Teq S JT9 THIT g ST Tal 8, ovvee...
ot G %)
(vi). 7 g (0, 4).oeee.. e 9 R g |

Fill in the blanks:
(i) 372 isalan ... number (rational / irrational )

2



(i) If P(x) is a quadratic polynomial , then P(x) =0 is called ............... equation.

(iii) If the roots of a quadratic equation are real and equal then the value of the
discriminant will be ...............

(iv) 10™ term of the arithmetic progression a ,a+d ,a+2d,a+3d , .........

IS e,
(v) All those shapes which have the same shape but do not necessarily have the
same dimensions are called .......... shapes.
(vi) The point (0, 4) lieson .......... axis.
3. 7/ 3reey e 1X6=6

(). T a,b,c AP. HEEqT b= ";" 2|

(ii). ToReT TR =rear &t wiRsrar w1 A= 1 gaT g |

(iii). ITTT T TFYOT 98 = 7 AT g, gl 7 T #f Brear g |

(iv). Toreft o= T sTeia Toet T@To g1 Jhd T ¢ |

(v). =t et gear iy wrfashar P g AT 0< P<I.

(vi) &TAST T 7 FU AT AR T@ 2 (Y @1 ATAsT T@T % 97T ATTHT HI07 97T 2 |

Write true / false :
(i) If a,b,c arein A.P.then b =

a+c

(i) The value of the probability of a certain event is 1.

(iii) Total surface area of the sphere is = 7> ,where 7 is the radius of the sphere.

(iv) There can be infinite number of tangents to a circle.

(v) If P is the probability of a eventthen 0 < P <1.

(vi) When looking upwards from the horizontal plane the line of sight makes an angle
of depression with the horizontal line.

4.  HEI SIS IR | 1x6=6
T — (1) T — (Il)
(i). sec’ -1 (a). ta:u9
(ii). cot® (b). (0,0)
(iii). 1—sin’ @ (). %72’1”2
(iv). FEIT T FTHRA (d). 277
(V). I &1 a0 (e). cos* @
(vi). 91 [9g % F=er® (f). tan’ @
Match the correct column.
Column = (I) Column — (ll)
: 2y 1
(i). sec”@-1 (a). and
(ii). cot® (b). (0,0)
(iii). 1—sin’ @ (c). %72'1”2



(iv). Area of the semicircle (d). 2zr

(v). Circumference of the circle (e). cos’ @
(vi). Coordinates of the origin (f). tan’ @
5. U 92 [ qT9T H SAL AT : 1X6=6

(i). =T it FRtgaTg Brs a9sT g g ?
(ii). TT 10 Hiex S UF T T FAT 10V/3 HieT § T GF HT IFIAT HI7 Fhadr gRm?
(iii). f3=ma FHEFTOT ax? + bx + ¢ = 0 fAfarae &1 g7 forfaw |
(iv). I T UF Ta @1 g & Thae faegel a2 Tia=eg 3t g ?
(V). 9% # SAraa+ 7 g9 e |
(vi). 3,3, 4,5, 5 qHTGL AT FAT RIT ?
Answer in one word / sentence:
(i) Are all the isosceles triangles similar?

(ii) If the shadow of a tree 10 meters high is 10v3 meters, then what will be the angle

of elevation of the Sun?
(iii) Write the farmula of the discriminant of quadratic equationax” +bx+c¢=0.
(iv) At how many points does a secant line of a circle intersect the circle?
(v) Write the formula for the volume of a cone.
(vi) What will be the arithmetic mean of 3, 3, 4, 5, 5?

6. HCF (306, 657) = 9 faa1 & | LCM (306, 657) STd FHiferT |

Given HCF (306, 657) =9 . Find the LCM (306, 657).
Agqar / Or

29Tz 3% 5— /3 U sy Hean 2 |
Show that 5—+/3 is an irrational number.

7.  ©EAT 7429 T AATST [UIMEE! & [UHAHA & & H T Dl o7 |
Express the number 7429 as a product of prime factors.

A4t/ Or

AT U@ At gT 12, 15 #i¥ 21 &1 HCF A1 #hitoiy |
Find HCF of 12, 15 and 21 by prime factorization method.

8. U f3HTq 9gUe AT hiTory foree ST & TN 3T [UAHA AT —3 3 2% |
Find a quadratic polynomial whose sum and product of zeros are
—3 and 2respectively.
Aq41/ Or

f5emd sgas 3x° +4x—4 F FIF AT DT |

Find the zeros of the quadratic polynomial 3x” +4x—4.

9. 4y’ +8u o AT AT it
Find the zeros of 4u’ +8u.
FAI41/ Or

3o T 4x° +5x—6 F IR AT [UIAERT ATT HITST |

Find the product of the zeros of the quadratic polynomial 4x* +5x—6 .

10. 19 FodAt qAT B A=l H FHd T 3900 g TAT UF ot U d19 Jai it Hidd 2 1300 2

4



11.

12.

13.

Aromrford w1 Rt e 2

The cost of three bats and six balls is ¥ 3900 and the cost of one bat and three balls is
% 1300. Construct algebraic equations.

Aq4T / Or
s adier y=mx +3 Hafe x=-2,y=>5 A m =T FT qH 0T ?
In the linear equation y =mx + 3if x=—2,y =35, then what will be the value of m?
THHFLO 2x” + 5x + 3 = 0 F fAfawmee &1 779 79 oy | 2
Find the value of the discriminant of the equation 2x* +5x+3=0.

4T/ Or

s=r o B o (2x —1)(x —3) = (x + 5)(x — 1) Tg=Ta TR & 77 7L
Check whether the equation (2x —1)(x —3) = (x+5)(x —1) is quadratic equation or not?
A. P. & W9 9% g foifew siafs $987 98 g = —1.25, g&@sa d =—0.25 g | 2
Write the first four terms of the A. P.where first termis a = —-1.25and common
difference is d =—0.25.

a4t / Or
AP:2,-2 -6,-10,.......... F 3T AT Ug forfe |
Find the next four terms of the A.P: 2, -2, -6, —10,..........

srpta § DE|| BC? | ADFTa #itg | 2

A

P - 1.8 cm
Tlem 7 T \E

B \54 em

(

In the figure DE || BC. Find the value of AD
A

D" \i{gcm
7.2 i.‘l.ll_. - E — E

\54 em

—c

Fg4aT / Or
TS 6 Y. AT Teh HEATIT TAN il qH I FTAT 1l AdTs 4 | §, STaTh SHT q9T THh
AT T AT &t At 28 WY g | AT FT AT ST it

The length of the shadow on the ground of a vertical pillar of height 6 m is 4 m, while

at the same time the length of the shadow of a tower is 28 m. Find the height of the
tower.

14. FfTET 4(6,1), B, 2),C(9, 4)FTD(p, 3) TH TGHIAL AT 6 T =&t 77 &

gf, Al p T AT ATT HIIT | 2

If the points 4(6,1) , B(8,2), C(9, 4) and D(p, 3) are the vertices of a parallelogram

in the same order, then find the value of p.
A4t/ Or
faegelt (a ,b) 3T (—a ,— b) & &= ¥ g stra FfT |

5



15.

16.

17.

18.

19.

Find the distance between the points (a ,b) and (- a ,—b).
7T AT sin60° cos30° +sin30° cos60° . 2
Find the value of sin60° cos30° +sin30° cos60°.
4T /Or

i secezgeﬁ sin AT 9T T T |

13 . .
If secd = E then find the value of sin 4.

3T TS SRAT ST ot 2R9 FT UF 89 @od g | I8 7q g o S iar gy a9 2
STl T STeRaT 0.62 8 | YeTHT & STide #hY 3T YT g ?
Two players Sangeeta and Reshma play a match of tennis. It is known that the

probability of Sangeeta winning the match is 0.62. What is the probability of Reshma
winning?

a1/ Or

HTA AT 9 U ITH T UF 9T Hhd @ | 4 & TST HCIT TTH g4 T JITHHhaT 47 g2
Suppose we throw a die once. What is the probability of getting a number greater
than 47
U = I A T ATRRAT AT ST, ST U g T U ST IRt v g | 2
AT &, T T ITH F bt Y JTear J1a e |
Find the probability of getting a head when a coin is tossed once. Also, find the
probability of getting a tail.

Aq41/ Or
U fed § 5 91T 9, 8 Tha i AT 4 2L FA © | 39 S=a § 7 U F47 Arg==AT
fReTeT STTAT 2 | SHEhT 97 ST T § o T8 97 847 Aal 872
A box contains 5 red marbles, 8 white marbles and 4 green marbles. A marble is

taken out at random from this box. What is the probability that this marble is not
green?

FIAT IT UF HIAX FEATIT GET ¢ | &3 & U &g o, ST {1 & 718 FAg & 15 #. T g,
HT % forew 1 Soa= o7 60° 8, Hi=me it S=TE 31 fifow | 3
A tower is standing vertically on the ground. From a point on the ground, which

is 15 m away from the foot of the tower, the angle of elevation of the top of the
tower is 60°, find the height of the tower.

A4t/ Or
AtefT T | T U 2 STaT 2 3T 22T gl W 29 q<g qe S1a7 g o6 I v feraw e =
el TTET g 3T T8k 979 300 T I I4TAT § | U % ATe-feig &l g, STl Ug &7 9w s
T ZAT S, 8 M g | US AT FATS AT o7 |

Due to a storm, a tree breaks and the broken part bends in such a way that the top of
the tree starts touching the ground and makes an angle of 30° with it. The distance to

the foot of the tree, where the top of the tree touches the ground, is 8 m. Find the
height of the tree.

forg e 3, ga & et favg o= waet v w9¢f famg & 99 areft Berww ada gt 87 3



Prove that, “The tangent line at any point to a circle is perpendicular to the radius
passing through the point of contact.”

AT4T /Or
T e gl il A0 5 cm 9T 3 cm g | 92 Fd 1 3§ (4T sl daTs AT sl o1 o[
IS I DI T FLAT & |

The radii of two concentric circles are 5 cm and 3 cm. Find the length of the chord of
the larger circle which touches the smaller circle.

20. 3474 cm aTel UF g % Browds #7 GFwd q19 o, et s 30° |
Find the area of the sector of a circle of radius 4 cm, whose angle is 30°.

{41/ Or
U I o AAT FT SARA AT hitory, Sreent aifer 22 cm g |

Find the area of a quadrant of a circle whose circumference is 22 cm.

21. T HYTE AN H TSRO e H0 F 18 =TI arfere g | 3= A1 Ao | 4

Of the two supplementary angles, the larger angle is 18 degrees more than the
smaller angle. Find them.

41/ Or
s g I Tx—15y =2, x+ 2y =3 = faame f&fer & g fifvm |
Solve the pair of linear equations 7x —15y =2, x + 2y =3 by the elimination
method.

22. TF 319 UF G T TS UF 905 o SR T g (SAenl sa10 1 cm g a7 9% il
ST I BroAT F aEY € | 99 3 HT A FAT 1 % 9l § A7 Her |

A solid is in the shape of a cone standing on a hemisphere whose radii are
1 cm and the height of the cone is equal to its radius. Find the volume of this

solid in terms of 7.

4Tt/ Or
U AT 3547 3.5 cm AT U 90F o ST HT 5, ST SHT 5saT a7l Teh TG 9T
TLATUIT g | 39 [ il 9997 HATs 15.5cm g | =7 faeiie &7 99qer g9 &= A1q
FIfr |

A toy is in the shape of a cone of radius 3.5 cm, which is mounted on a

hemisphere of the same radius. The overall height of this toy is 15.5cm. Find the

total surface area of this toy.

23. TAHferfaa |Teoft 35 AR it ATt 3 (TTaerd |) Tt ¢ |
TATAAT 3T
. 45 - 55 55-65 65-75 75 -85 85-95
(% ¥ )
. il 3 10 11 8 3
T
T FTEALAT T ATT I |



The following table shows the literacy rate (in percentage) of 35 cities.

'('itr?ﬂ,zcg ate | 45_55 | 55-65 | 65-75 | 75-85 | 85-95
Number of 3 10 11 8 3
cities
Find the mean literacy rate.
g4t / Or

RAerferfea amoft et seaarer ® v 39w ay § gu Ay & o &1 q9rid &

;F(aﬁ 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55— 65
. il 6 11 21 23 14 5
qegT

T ATHE] AT AgAT AT HIT9T |

The following table shows the age of patients treated in a hospital in a particular
age(in _ _ _ ) _
years) 5-15 15-25 | 25-35 35-45 | 45-55 | 55-65
Number
of 6 11 21 23 14 5
patients

Find the mode of these data.

*kkk

ear:



T8tedT d ST Y U - 2023-24
PET - 1081 (< - 3)
fawg - fo=dt

IHY - 3 el [ — 75

i, Wb uysfari g |

i.  Ud® Uy & e Smdfed ofd Iud qrg sifed | |

i. UHHH® 19 5d% 30 TIAT UY § | TP IU-UY W 1 3w ufRa g |

iv. UHHHD 6917 IH HA 12 UM § | UAD UY W 2 3 RufiRa § | s T e 30 I € |

v. U HHID 18 F 20 dF A3 UH ¢ | TAD U W 3 i iR § | e T THT 75 Ut & |

vi. UM HHIG 21923 TH $A3TY S | TP UY W 4 3 FuiRd € | e FAr amnT 120 Tsc 7 |

vii UHHHD 63 23 qb Ut usl B iR faded UL E | ,
viii. I8 U UF 3T A & foTT B | U8 SH1avg e el fb anfier udten ® 3t oaRE & 3yar I8! Uy U oIk |

1. 8! fape &1 99+ o fafag - (1x6=6)

i. JANTATE & S HH ST & -

(@) meRdianl @ °RE (¥) qRar (@ eEre U

i, R Tt A g B TR -

(30 oA Bt @) I<d Bl (H) W Ht GEREISRIEH]

iii. "fAUTargUTe ARERT SarTE: At ag gy § -

(31) SMTA fay=Ty H1 (@) FHC B @)U T H (€ A B
iv,ﬁﬂTGﬂﬁﬁfﬁmTﬁﬁcQﬁ—

@GN TAAUMTGRT @) TRUIRISI gRT (@) FRATEGRT (<) & faum gry
v. Forg Tar & mue ue faRivo iR qaRT ue Al giar g SY Ped & -

(30 feg T OEEREE @) SHFAUTE AN () HHURT T
vi T 6T Sfad UTe | Iy & STEell U1 & o -

(30) IHU &l (&) T BT (H) AT BT (@) HETHRA &1
2. Sfa faweu grT fYaa =i & gfd #= faf@w - (1x6=6)
L R it & | (SR 3T/
TN TR RC oA 17 B 2R | [ L0 R —— FHEAmd g |(THTE/3FHTd/3IE )
TTRTIE AL | 1 o) R — FEd § | (P1/TI/AT)
VA SR G RN o B 75— o = gt 2 |  @F/BRA/ /S D)
A a1 foeft o & vy erfq 7 81 &1 Sty BraT § | (Fearaes/aearads/ STards)
S 1 I A1 e  FOR o) [ —— faeur o foran man § | (STERY/Rutats/amEmgid)
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3. Fufeafed sy & gwe 9o a1 9w fafae -

i, IR cafad o= TR Wad B g |
ii. TR BT H ST dd YU BT | |
iii. ATed T & 0T faeT § ST § |

iv. TGS BT STTHERT URIE & |

v. TE AR S TTUBREAE |

vi. TG ST TAfATE & faemdf & |

4. T 1 WSl fa #= faf@e -
T (30) T (9)

i (@) Gdl-caarsfi &1 fHarg
i, U o HILTH Y U BT Y (@) 9T BT 9g

i. SOETIAFAT (M) g @i
iv. dpifad @) I«E & e
v. Hfa @ S DR
vi. Wgd (©) SR
SRk
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Practice Question Paper Set-A
High School Examination-2024
Class-X
Subject -English

1. All questions are compulsory.
2. Marks of questions are given against them.

SECTION-A (READING)

Q.1.Read the following passage carefully and answer the questions given below.
(1x5=5)

| have heard about a man who was seen as a great salesman. His company was very proud of
him. The company, dealing in real estate, had been unable to sell a big plot of land that had
been with them for years. But the salesman sold the plot. A fortnight after the sale, it started
to rain and the plot was about 15 ft under water. The man who had purchased it came to the
dealer's office and said, 'Your salesman sold me a plot that is now under 15 ft of water. It has
become a big lake. | want my money back.' The salesman was called, and he said, 'Here, take
your money with interest because | have lots of buyers. You can make a beautiful house on it
after the rains, and when the rains come again, you can make arrangements so that the water
does not flow out. You will have a lake palace. And | will give you two boats' and he sold two
boats to the man. The dealer was watching the scene. The boats were absolutely useless. But
the salesman said, 'Don't worry, if | can manage that big a trouble. | can manage two boats."
You just have to create a desire in people. The buyer was only thinking of making a house, but
his desire. and ambition were changed to a lake palace. For centuries, man has been sold
beliefs, dogmas that are untrue, that have no evidence, except in your ambition. You don't
want to do anything, and you want to reach heaven. And there are people ready to give you
maps, shortcuts.

Questions:
i. What did the salesman sell to the buyer in the story?

a) A house b) A plot of land

c) Two boats d) Amap

ii. Why did the buyer request a refund from the company?

a) The salesman deceived him b) The land was infertile

c) The plot was under water d) He changed his mind

iii. How did the salesman convince the buyer to keep the plot despite the flooding?
a) Offered a refund b) Promised a lake palace

c) Gave him a discount d) Suggested building a skyscraper



iv. What does the story suggest about the boats the salesman sold to the buyer?
a) They were valuable b) They were useless

c) They were essential for a lake palace d) They could prevent flooding

v. According to the story, what has humanity been sold for centuries?

a) Maps b) Shortcuts

c) Beliefs and dogmas d) Houses

Q.2. Read the following passage carefully and answer the questions given below.

(1x5=5)

Pollution is the intermixing of harmful substances known as pollutants with the natural
environmental components. There are various forms of Pollution, like land pollution, water
pollution, air pollution, and soil pollution. No matter which form of infection it is, it has
dangerous impacts on our environment. Pollution is the addition of unwanted substances into
the environment that can damage our Earth. There are 4 main types of Pollution; water
pollution, air pollution, soil pollution, and noise pollution. All kinds of Pollution are a result of
careless activities by man. We dump waste directly into water bodies, which results in water
pollution. Air pollution is caused when vehicles release smoke into the atmosphere and make
it difficult to breathe for all organisms. Soil pollution is caused by directly dumping our waste
into landfills. Noise pollution is not visible, but it is a dangerous form of Pollution that can
damage our ears. Water pollution forms a major category of Pollution and has become an
urgent crisis in many countries. We cannot survive without water. So, when most of the water
bodies will dry up or get chocked, the human population will come to an end. The next big
form of Pollution is air pollution. It is mainly caused by toxic exhumes from vehicles and the
burning of coal for electricity.

Questions:

i. What is the primary cause of air pollution mentioned in the passage?
a) industrial waste b) burning of coal for electricity

c) excessive use of pesticides d) deforestation

ii. Which form of pollution is not visible but can damage our ears?

a) water pollution b) soil pollution

c) noise pollution d) air pollution

iii. What is the consequence of dumping waste directly into water bodies, according to the
passage?

a) soil erosion b) noise pollution

c) water pollution d) air pollution

iv. What does the passage suggest about the human population in the context of water
pollution?

a) it will decrease. b) it will increase.

c) it will become more resilient. d) it will come to an end.



v. What is identified as the main cause of air pollution in relation to vehicles?
a) fuel efficiency b) tire wear  c) toxic exhumes d) car color
Q.3. Read the following passage carefully. Make notes and supply a suitable title: 4
Education is the essential thing for our life, and it helps in the growth of human civilization.
Education is necessary to understand the universe around us and convert it into something
more beneficial. With the help of knowledge, we can develop a new perspective for our life.
If people are educated, then they can know their responsibilities and rights quite well. First of
all, education gives the ability to read and write to anyone. A good education is extremely
essential for everyone to grow and succeed in life. Education increases self-confidence and
assists in developing the personality of a person. Education plays a big role in our life.
Education is split into 3 parts such as primary education, secondary education, and higher
secondary education. All these 3 divisions of education have their value and advantages.
Primary education is the base of education for a person, secondary education paves the
direction for further education and higher secondary education makes the future and the
ultimate way of life.

SECTION- B (WRITING)
Q.4. You are Kushal Sharma studying in Govt. HSS Nayanpura.. Write an application to your
principal for ‘Fee Concession’. 4

Or
You are Neeraj Chauhan residing at A/53 Basant Vihar, Gwalior. Write a letter to your friend
inviting him to attend your Birthday Party.

Q.5. Write an essay on the any one of the following topics in 150 words. 5
A. Unemployment Problem
B. Importance of Trees
C. Science and Man
D. Value of Games and Sports
Or
Write a paragraph in about 150 words on ‘Advantages and Disadvantages of Social Media’.



Q.6 . On the basis of the picture given below, describe the impact of mobile on students’
life. (In about 75 words) 3

ACCESS TO ONLINE
LEARMNING:

SECTION-C (GRAMMAR)

Q.7. Fill in the blanks choosing the correct alternative given in the brackets. (Any five)
(1x5=5)
i) Her uncle is ....... MLA. (a, an, the)
ii) His grandmother died.... cancer. (from, than, of)
iii) The train had left the station before we ...... there. (reach, reached, had reached )
iv) Walk carefully...... you will fall down. (or, and, but)
v)There are ....... flowers in this garden. (many, much, any)
vi) We ........ to respect our elders?( should, ought, must)
Q.8. Do as directed- (any five) (1x5=5)
i) Unless he invites me, | won’t attend the party. (Rewrite using ‘if’)
ii) They have made it. (Change into Past Continuous Tense)
iii) She is too tired to work. (Rewrite using ‘so..... that’)
iv) He cut his finger. (Change into negative)
v) Anuj is paying Chess. (Change into passive)
vi) The boy is my best friend. The boy is standing in the corner. (Combine the sentences
using ‘who’)
Section-D(Textbooks)
Q.9 . Answer the following questions: 1x4=4

(i) The dust of snow affected the poetby

(a) making him superior (b)making him energetic

(c) changing his mood (d) making him sad

(ii) According to Nelson Mandela, what is a country’s greatest wealth?
(a) its mineral (b)its people

(c) its traditions (d) its forests



(iii) Anne Frank wrote her diary while
(a) while playing with her family  (b) while hiding with her family

(c) while a trip (d) while working
(iv) According to Amanda freedom is --.

(a) sour (b) sweet

(c) bitter (d) painful

Q.10. Read the following extract from the prose and answer the questions given below:

(A) The young seagull was alone on his ledge. His two brothers and his sister hadalready
flown away the day before. He had been afraid to fly with them. Somehow when he had taken
a little run forward to the brink of the ledge and attempted to flap his wings he became afraid.
The great expanse of sea stretched down beneath, and it was such a long way down—miles
down. He felt certain that his wings would never support him; so he bent his head and ran
away back to the little hole under the ledge where he slept at night.

Questions: 1x3=3

i. What happened when the young seagull ran to the brink of the ledge?

(a) he became afraid (b)he flew away (c)he fell into the sea
ii. Where did the young sleep at night?

(a) on a tree (b)under the ledge (c)in water

iii. The word ‘little” means-

(a) big (b) wide (c) small

(B)

If strolling forth, a beast you view,
Whose hide with spots is peppered,
As soon as he has lept on you,

You'll know it is the Leopard.

‘Twill do no good to roar with pain,
He’ll only lep and lep again.

Questions: 1x3=3
i. From which poem have the above lines been taken?

(a) How to Tell Wild Animals (b) A Tiger in the Zoo (c) The Ball Poem
ii. Who has written this poem?

(a) Robert Frost (b) Carolyn Wells (c) Leslie Norris

iii. What does the word ‘beast’ mean?

(a) bird (b) insect (c) animal

Q.11. Answer the following questions (30 words): (any six) 12

i. What did Lencho hope for?
ii. What compelled the young seagull to finally fly?
iii. What made the woman in the control centre look at the narrator strangely?



iv. Why did Anne want to keep a diary?

v. What are the elders in Goa nostalgic about?

vi. Why is Coorg compared to heaven?

vii. What did Mij do to the box?

Q.12. Answer the following questions (30 words): (any two) 4

i. According to Frost, what are the two different views about the end of the
world?(Fire and Ice)

ii. How does the tiger act in the cage? ( A Tiger in the Zoo)

iii. Why does Amanda want to be an orphan? ( Amanda)

Q.13. Answer the following questions (30 words): (any two) 4
i. Why was Dr. Herriot confident that Tricki will be in hospital soon?
ii. Why is Bholi’s father worried about her?

iii. Why had Fowler wanted to meet Ausable?

Q.14. Answer the following questions in about 75 words. 3

Describe the narrator's experience as he flew the aeroplane into the storm.
Or
Describe the pen-portrait of a traditional Goan village baker.

Q.15. Answer the following questions in about 75 words. 3

What is theme of the poem ‘Dust of Snow’
Or
Write the central idea of the poem ‘Amanda’.
Q.16. Answer the following questions in about 75 words. 3
In the end of the lesson, Mrs. Pumphery says "This is a triumph of surgery."Why?

Or

How did the invisible man first become visible?



